scs(e

High Pressure

SCS AF—)#l 7—52 b))




scs(e

High Pressure

SCS AF—N# -5V ) XV
{5 - th - R 4 EEHOR

& - GWECBIET7LYFTNT =52 b OV [EENY RRAA AZA 7O CNC figh, i - 14
A=y TR R— B, £ N5 VA7 7 =< IlifdskE S,

B

&
lan

PEREIZIS U A DS 1 vy 7
DECA : ¢3.0 9%/ X)L
HECTO : ¢6.0 /% X)L
MEGA : ¢10.5 7%/ X)L

GIGA : $16.0 7%/ X

(Max.150bar :51 ¢ /min)
(Max.100bar : 168 ¢ /min)
(Max.80bar :460 ¢ /min)

(Max.80bar : 1,068 ¢ /min)

e & & s

E DECA HECTO MEGA GIGA

(Bar) (£ /min) (£ /min) (£ /min) (£ /min)

2 6 24 73 169

8 12 48 145 338

15 16 65 199 463

20 19 75 230 534

30 23 92 282 654

50 30 119 364 844

80 38 150 460 1068
100 42 168 — —
150 51 — — —

TLIFTNT—=F 0 8 VL, Fv bz EOIGEOMNT R THEHERET,
MAH U (20kg) DIFE IZ AN F TOREDI T DIBET T,

RIY a VMR U7 X ZAPOIRBIPIEICHA £97. AT 2 LR TS, MEROPEE D HE
TY,

KEEPA AV, T7 —TOILAAEETY,

Bt (IC) D 8=IZHWT, BSP 2 VINATNZLIENA 1 D50 £9, TUTNPT 2121322
DAEIDH Y £, A M)y 73 DIEBZEDRH D FHA, ZOZMTHEIZED TS Z L kT,



scs(e

High Pressure

M A2 REE T B 728012, ZnNi W (JEX 0.9~13um) L7ZAF—IIBIF b mEDETHIEL T\ E
TO

ND-GE-01 IZ¥#L L. ATV 7IVTHREEEIEZ 570, 35CT 5%D NaCl EEDEHE/KDFET
480 BT A N &2 U E U7z, SEHIT. 252 L AAF—)L AISI-303 DM OERERE Y —8d 2 hZF L
B0 F L7~

GIGA % MEGA @712 A TlZ 80 bar (1,160 psi) £, HECTO ® 7125 AlZl% 100bar (1,450
psi) T, DECA D712 3 AIZiE 1650 bar (2,175 psi) ¥ TOENIZMZ ET,

IO YA RIZZET/ Y F N
HB1=OFROTIHHN T ET

4 f{(DECA, HECTO, MEGA, GIGA)AZ —&X —F v b

DECA PROGRAM HECTO PROGRAM
B e ;
MEGA PROGRAM GIGA PROGRAM

www_scs-hp.com




scs(e

High Pressure

SCS AF—NVMI -5V NVATL Tvkey T —

HETRD D

EERY—ELE—

BEE X TOF

Ozt & BEbtiR DR

QIR IZADE T, HAH, [ EEES S

@ZHARIZEDLE T AVORR, D% #ET S




scs(e

High Pressure

AL A-RA T Dl DU 5]

]

g
L3
\'#
37

A¥ 5

HECTO (6mm) ®7vt> 71— MEGA (10.5mm) ®7 vt 7)) —
4x 1 unit HEJIC-01-07, F 22— 7588k : NPT 1/4"(M) 4x 1 unit MEIC-01-02, F 2 — 7Ee8ii& : NPT 3/8"(M)
4% 1 unit HE-AC-01-00, = — 745kt : L:20.5mm 4 x 4 unit ME-AC-01-00, F = — 7855 : 1:28.5 mm

4x 1 unit HE-NZ-03-00, / AL 902 ID:3.4 mm x 3 & L:24 mm 4x1ME-AC-01-02, F2— 78t : L=128.5 mm
4 x 1 unit ME-NZ-01-00 Z hL— k. 2L

1D:10.5 mm & L:27 mm

2x 1 unit ME-IC-01-02 F 2 — 7 : NPT 3/8"(M)
2x 1 unit ME-NZ-01-00 Z kL —h ./ X)L
1D:10.5 mm & L:27 mm



scs(e

High Pressure

CNC fi#gna — & 1) —Y — )Lk X —~OHUST 15

O—& Y —Y— L)X —IZED {1372 DECA ¥ AF A O—& Y —Y—)LFRILKX—IZH D )72 HECTO ¥ AT A
AML—F /)L ID:3mm & L:10mm AML—F /AL ID:6mm & L:16mm

a—& 1) —Y—)LHRILE—IZHE O {fiF 72 HECTO VAT A O—& Y —Y =)L) X —IZEY 1372 HECTO ¥ A5 A
AL —F /20 ID:3mm & L:20mm AML—F /20 ID:3.4x3mm & L=20mm



scs(e

High Pressure

DECA (3 mm) PROGRAM
Initial connection: T
Ref. Description
DE-IC-01-00 MB8x1(M) to articulated connection DECA.
DE-IC-01-01 M5x0.8(M) to articulated connection DECA.
DE-IC-01-02 M6x1(M) to articulated connection DECA.
DE-IC-01-03 M10x1(M) to articulated connection DECA.
DE-IC-01-04 BSPP 1/8"(M) to articulated connection DECA.
DE-IC-01-05 BSPP 1/4"(M) to articulated connection DECA.
DE-IC-01-06 MB8x1 keg(M) to articulated connection DECA.
DE-IC-01-07 M10x1 keg(M) to articulated connection DECA.
DE-IC-01-08 BSPT 1/8"(M) to articulated connection DECA.
DE-IC-01-09 NPT 1/8"(M) to articulated connection DECA.
DE-IC-01-10 NPT 1/4"(M) to articulated connection DECA.
DE-IC01-11 M10x1.5(M) to articulated connection DECA.
DE-IC-01-12 M10x1(M) with 10 mm hexagon to articulated connection DECA.
DE-IC-01-13 BSPP 1/8"(M) with 10 mm hexagon to articulated connection DECA.
DE-IC01-14 M10x1.5(M) with 10 mm hexagon to articulated connection DECA.
DE-IC-02-00 Ball OD:10 mm to articulated connection DECA.
DE-IC-02-01 Ball OD:12 mm to articulated connection DECA.
DE-IC-02-02 Ball OD:14 mm to articulated connection DECA.
DE-IC-02-03 Ball OD:15 mm to articulated connection DECA.
DE-IC-03-00 MB8x1(M) to Nut for compression ring ID:6 mm DECA.

DE-IC-01-00

| M7.5/0.5 _

DE-IC-01-01




scs (e

High Pressure

_MI0/1.0 _

M7.5/0.5
T /_‘
# /C
| —

_ BSPP1/8228 _

13.00
SECTION A-A

M7.50/0.5 _

_ M8/1.0keg _

DE-IC-01-06 DEAC-01-07




scS(e

High Pressure

It

i

i “ | I I (:_,?_:‘
|\“LHM|\|‘\|W | \@% i | [/ ) )
I\ \\__‘/. J/

= L"/ s
| Ec/////ﬁ» Z

DE-IC-01-09

i

A
M-‘H\" Il :
“\L\MMH o WM

DE-IC-01-10

DE-IC-01-12

DE-IC-01-13

www.scs-hp.com



scs(e

High Pressure

//ﬁ \\\w | . = ,\W\B
'ﬂ % \\'\‘ o m‘lm Ll \l\‘ H \\ o /f‘\\
\\\.E/‘/,/ W%W%m @

DE-IC-02-03 DE-IC-03-00




scs(e

High Pressure

Articulated connection: E5IE

Basic articulated elements which connect to each other. Swiveling £25°. ID:3 mm.
Material: Steel

Ref. Description
DE-AC-01-00 Articulated connection DECA L:12.5 mm
DE-AC01-01 Articulated connection DECA L:27.5 mm
DE-AC-01-02 Articulated connection DECA L:42.5 mm
DE-AC-01-03 Articulated connection DECA L:57.5 mm
DE-AC01-04 Articulated connection DECA L:72.5 mm
DE-AC-02-00 Articulated connection to 902 DECA

ot/

(CTme
E _T\;r_:“wqq 2 .—lg

DE-AC-01-02 DE-AC-01-03




scs(e

High Pressure

DE-AC-01-04

/ﬁ
Hl"‘ Q :
Jm

SECTION A-A

DE-AC-02-00

Coolant nozzles: / XJL
Nozzles with several designs adapted to meet different coolant delivery requirements.

Material: Steel

Ref. Description
DE-NZ-01-00 Straight nozzle ID:3 mm & L:9 mm
DE-NZ-01-01 Straight nozzle ID:2 mm & L:9 mm
DE-NZ-01-02 Straight nozzle ID:3 mm & L:20 mm
DE-NZ-01-03 Straight nozzle ID:2 mm & L:20 mm
DE-NZ-01-04 Straight nozzle ID:1.5 mm & L:20 mm
DE-NZ-01-05 Straight nozzle ID:1 mm & L:20 mm
DE-NZ-01-06 Straight nozzle ID:1.5 mm & L:9 mm
DE-NZ-01-07 Straight nozzle ID:1 mm & L:9 mm
DE-NZ-01-08 Straight nozzle ID:22 mm x 2 & L:12 mm
DE-NZ-01-09 Straight nozzle ID:1.8 mm x 3 & L:12 mm
DE-NZ-01-10 Straight nozzle ID:0 mm & L:9 mm
DE-NZ-02-00 Nozzle 45° simple ID:3 mm & L:15 mm
DE-NZ-02-01 Nozzle curved 45° ID:2 mm & L:20 mm
DE-NZ-02-02 Nozzle curved 45° ID:1.5 mm & L:20 mm
DE-NZ-02-03 Nozzle curved 45° ID:1 mm & L:20 mm
DE-NZ-03-00 Nozzle 90° ID:3 mm & L:15 mm
DE-NZ-03-01 Nozzle 3 outlets at 90° ID:1.8 mm & L:15 mm
DE-NZ-03-02 Nozzle 90° simple ID:3 mm & L:12 mm
DE-NZ-03-03 Nozzle 90° simple ID:1.5 mm & L:12 mm
DE-NZ-03-04 Nozzle 2 outlets at 90° simple ID:1.5 mm & L:12 mm




scs(e

High Pressure

DE-NZ-01-04 DE-NZ-01-05




scs(e

High Pressure

L 1.60 N . 9.00 N -
DE-NZ-01- DE-NZ-02-00

www_scs-hp_com




scs(e

High Pressure

==

DE-NZ-03-01




scs(e

High Pressure

DE-NZ-03-04

www_scs-hp.com



scs(e

High Pressure

Starter kit

Set of components to start and become familiar with the SCS Articulated Coolant Distribution System DECA program.
Basic set of components delivered in a basic kit for the most typical applications.

Weight:30g.
Ref. Description

Kit Single Outlet DECA:
For general cooling with a single outlet L=135 mm.
Weight: 30g.
Initial Connection:
1 unit DE-IC-01-00 M8x1(M) to articulated connection DECA.
Articulated connection:

DE-SK-01-00 5 units DE-AC-01-00 Articulated connection DECA L:12.5 mm

1 unit DE-AC-01-02 Articulated connection DECA L:42.5 mm
Coolant nozzles:
1 unit DE-NZ-01-00 Straight nozzle. ID:3 mm & .9 mm

Fastening keys for the articulated system:

1 unit DE-FK-01-00 Wrenches for fastening the 2 hexagons used in the DECA program. SW8 &
SWo.

ITEM NO.| PARTNUMBER |DESCRIPTION| QTY.
1 |DE-IC-01-00
2  |DE-AC-01-00
3 |DE-AC-01-02
4 |DE-NZ-01-00
S
6

|DE-FK-01-00-1
|DE-FK-01-00-2

DE-SK-01-00




scs(e

High Pressure

HECTO (6 mm) PROGRAM
Initial connection: &8

Connection elements with the machine-tool or other SCS coolant distribution programs. 1D:6 mm.
Material: Steel

Ref. Description
HE-IC-01-00 BSPP 1/8"(M) to articulated connection HECTO.
HE-IC-01-01 BSPP 3/8"(M) to articulated connection HECTO.
HE-IC-01-02 BSPP 1/4"(M) to articulated connection HECTO.
HE-IC-01-03 MB8x1(M) to articulated connection HECTO.
HE-IC-01-04 M10x1(M) to articulated connection HECTO.
HE-IC-01-05 NPT 1/8"(M) to articulated connection HECTO.
HE-IC-01-06 NPT 3/8"(M) to articulated connection HECTO.
HE-IC-01-07 NPT 1/4"(M) to articulated connection HECTO.
HE-IC-01-08 BSPT 1/4"(M) to articulated connection HECTO.
HE-IC-02-00 Ball OD:10 mm to articulated connection HECTO.
HE-IC-02-01 Ball OD:12 mm to articulated connection HECTO.
HE-IC-02-02 Ball OD:14 mm to articulated connection HECTO.
HE-IC-02-03 Ball OD:15 mm to articulated connection HECTO.
HE-IC-03-00 BSPP 1/8"(M) to Nut for compression ring ID:8 mm HECTO.

/_\

m\'lll\\\..l | ’Hfﬂ{

M13/1

_ BSPP1/8228 _

HE-IC-01-00 HE-IC-01-01




scs(e

High Pressure

-

HE-IC-01-02

M.
l 5

20.60 ]

HE-IC-01-06

L 21.40
HE-IC-01-07




scs(e

High Pressure

_ BSPT1/4719  _
M13/1.0

HE-IC-02-02

—
//_\\
BSPP 1/8 228

HE-IC-02-03 HE-IC-03-00




scs(e

High Pressure

Articulated connection: %R

Basic articulated elements which connect to each other. Swiveling £25°. ID:6 mm.
Material: Steel

Ref. Description
HE-AC-01-00 Articulated connection HECTO L:20.5 mm
HE-AC-01-01 Articulated connection HECTO L:45.5 mm
HE-AC-01-02 Articulated connection HECTO L:70.5 mm
HE-AC-01-03 Articulated connection HECTO L:95.5 mm
HE-AC-02-00 Articulated connection to 902 HECTO

13.00 L L
) SECTION A-A SECTION A-A

HE-AC-01-01

13.00
SECTION A-A

" SECTION A-A

HE-AC-01-02 HE-AC-01-03




scs (e

High Pressure

SECTION A-A

HE-AC-02-00

Coolant nozzles: / XV

Nozzles with several designs adapted to meet different coolant delivery requirements.
Material: Steel

Ref. Description
HE-NZ-01-00 Straight nozzle. ID:6 mm & L:16 mm
HE-NZ-01-01 Straight nozzle. ID:3 mm & L:16 mm
HE-NZ-01-02 Straight nozzle. ID:2 mm & L:16 mm
HE-NZ-01-03 Straight nozzle. ID:6 mm & L:35 mm
HE-NZ-01-04 Straight nozzle. ID:3 mm & L:35 mm
HE-NZ-01-05 Straight nozzle. ID:3 mm x 3 & L:20 mm
HE-NZ-01-06 Straight nozzle coaxial. ID:3.4 x 3 & L=20 mm
HE-NZ-01-07 Straight nozzle coaxial. ID:2.7 x 5 & L=20 mm
HE-NZ-01-08 Straight nozzle. ID:1 mm & L:16 mm
HE-NZ-02-00 Nozzle 45°. ID:6 mm & L:23.5 mm
HE-NZ-02-01 Nozzle 45° simple. ID:6 mm & L:20 mm
HE-NZ-03-00 Nozzle 90°. ID:6 mm & L:20 mm
HE-NZ-03-01 Nozzle 90°. ID:3.4 mm x 3 & L:24 mm
HE-NZ-03-02 Nozzle 90° simple. ID:6 mm & L:20 mm




scs(e

High Pressure




5[:5@

High Pressure

Hh

AT T

NN

=

| [ /" |

HE-NZ-02-01
=




scs(e

High Pressure




scs(e

High Pressure

Starter kit:

Set of components to start and become familiar with the SCS Articulated Coolant Distribution System DECA program.
Basic set of components delivered in a basic kit for the most typical applications.

Ref.

HE-SK-01-00

Description
Kit Single Outlet HECTO:

For general cooling with a single outlet L=220 mm.
Weight: 120 g.

Initial Connection:

1 unit HESIC-01-00 BSPP 1/8"M) to articulated connection HECTO.

Articulated connection:

5 units HE-AC-01-00 Articulated connection HECTO L:20.5 mm

1 unit HE-AC-01-02 Articulated connection HECTO L:70.5 mm

Coolant nozzles:

1 unit HE-NZ-01-00 Straight nozzle. ID:6 mm & L:16 mm

Fastening wrenches for the articulated system:

1 unit HE-FK-01-00 Wrenches for fastening the 2 hexagons used in the HECTO program. SW13 & SW15.

ITEM NO.| PARTNUMBER |DESCRIPTION| QTY.
1 [HE-IC-01-00
2 HE-AC-01-00
3 IHE-AC-01-02
4 [HE-NZ-01-00
5
)

|HE-FK-01-00-1
[HE-FK-01-00-2

—_— et [ | = | | —




scs(e

High Pressure

MEGA (10.5 mm) PROGRAM

Initial connection: #5548

Connection elements with the machine-tool or other SCS coolant distribution programs. 1D:10.5
mm.
Material: Steel

Ref. Description

ME-IC-01-00 BSPP 3/8"(M) to articulated connection MEGA.
ME-IC-01-01 BSPP 1/2"(M) to articulated connection MEGA.
ME-IC-01-02 NPT 3/8"(M) to articulated connection MEGA.
ME-IC-01-03 NPT 1/2"(M) to articulated connection MEGA.
ME-IC-01-04 BSPT 3/8"(M) to articulated connection MEGA.
ME-IC-01-05 BSPT 1/2"(M) to articulated connection MEGA.

_ BSP1/2714
24.00

"\"“\f\l‘m’\ P

AR

,,/,//"\\\\ 5 o

1[\“( JH ) = L

M21

NPT 3/8

ME-IC-01-02 ME-IC-01-03




scs(e

High Pressure

bl

BSPT 1/2

_ BSPT3/8219  _

ME-IC-01-04 ME-IC-01-05

Articulated connection: E#f5EER

Basic articulated elements which connect to each other. Swiveling £25°. ID:10.5 mm.
Material: Steel

Ref. Description
ME-AC-01-00 Articulated connection MEGA L:28.5 mm
ME-AC-01-01 Articulated connection MEGA L:78.5 mm
ME-AC-01-02 Articulated connection MEGA L:128.5 mm
ME-AC-01-03 Articulated connection MEGA L:178.5 mm
ME-AC-01-04 Articulated connection MEGA L:228.5 mm
ME-AC-02-00 Articulated connection to 902 MEGA

3 SECTION B-B & ‘
SECTION A-A - A_J

78,50 | SECTION C-C
ME-AC-01-00 ME-AC-01-01




scs(e

High Pressure

A p s

136.47

\l {(
[
TN

- -

(G5

ME-AC-01-04

A SECTION A-A

ME-AC-02-00

Coolant nozzles: / XV

Nozzles with several designs adapted to meet different coolant delivery requirements.

Material: Steel




scs(e

High Pressure

Ref. Description

Straight nozzle ID:10.5 mm & L:27 mm
ME-NZ-01-01 Straight nozzle ID:7 mm & L:27
ME-NZ-01-02 Straight coaxial nozzle ID:6 mm x 3 & L:34
ME-NZ-01-03 Straight coaxial nozzle ID:4.6 mm x 5 & L:34
ME-NZ-01-04 Straight nozzle ID:6 mm x2 & L:34 mm
ME-NZ-02-00 Nozzle 45° ID:10.5 mm & L:50 mm
ME-NZ-02-01 Nozzle 45° simple ID:10.5 mm & L:34 mm
ME-NZ-03-00 Nozzle 90° ID:10.5 mm & L:34 mm
ME-NZ-03-01 Nozzle 5 outlets at 90° ID:4.5 mm & L:49 mm
ME-NZ-03-02 Nozzle 90° simple ID:10.5 mm & L:34 mm

ME-NZ-04-00 Modular nozzle body W:68 mm & H:18 mm. Must be mounted with ME-
NZ-04-01 or ME-NA-04-02

ME-NZ-04-01 Modular nozzle outlet 0° slot W:60 mm & H:2 mm. Must be mounted with
ME-NZ-04-00




scs(e

High Pressure

ME-NZ-03-01




scs(e

High Pressure

_ 1200 _

38.67

ME-NZ-04-01

ME-NZ-04-00 + ME-NZ-04-01

Starter kit:

Set of components to start and become familiar with the SCS Articulated Coolant Distribution System MEGA program.
Basic set of components delivered in a basic kit for the most typical applications.

Ref. Description

Kit Single Outlet MEGA:

For general cooling with a single outlet L=260 mm.
Weight: 440 g.

Initial Connection:

1 unit ME-IC-01-00 BSPP 3/8"(M) to articulated connection MEGA.
Atrticulated connection:

ME-SK-01-00 5 units ME-AC-01-00 Articulated connection MEGA L:28.5 mm

1 unit ME-AC-01-01 Articulated connection MEGA L:78.5 mm
Coolant nozzles:

1 unit ME-NZ-01-00 Straight nozzle. ID:10.5 mm & L:27 mm

Fastening keys for the articulated system:
1 unit ME-FK-01-00 Wrenches for fastening the 2 hexagons used in the MEGA program.
SW21 & SW24.




scs(e

High Pressure

TEMNO.| PARTNUMBER |DESCRIPTION| QTY.
ME-IC-01-00
ME-AC-01-00
ME-AC-01-02
ME-NZ-01-00
MEFI-01-00-|

ME-FK-01-00-2

O (n b |k | =
e [ e | =




scs(e

High Pressure

GIGA (16 mm) PROGRAM
Initial connection: &8

Connection elements with the machine-tool or other SCS coolant distribution programs. 1D:16
mm.
Material: Steel

Ref. Description
GHC01-00 BSPP 1/2"(M) to articulated connection GIGA.
GHC-01-01 BSPP 3/4"(M) to articulated connection GIGA.
GHC-01-02 BSPP 1"(M) to articulated connection GIGA.
GHC-01-03 NPT 1/2"(M) to articulated connection GIGA.
GHC01-04 NPT 3/4"(M) to articulated connection GIGA.

P

-

4

Mﬂﬂﬂ'ﬂ'ﬁlw

[ Sy, N .

_ BSPP3/41

V7
[/ -

Gl-IC-01-00

M30/1

BSPP 11211

Gl-IC-01-02 Gl-IC-01-03




scs(e

High Pressure

i

i

| W |
:

41.76

Gl-IC-01-04

{PT3/42z14

Articulated connection: E#f5EER

Basic articulated elements which connect to each other. Swiveling £25°. ID:16 mm.
Material: Steel

Ref. Description
GI-AC-01-00 Articulated connection GIGA L:37 mm
GIAC01-01 Articulated connection GIGA L:87 mm
GI-AC01-02 Articulated connection GIGA L:137 mm
GIAC01-03 Articulated connection GIGA L:187 mm
Gl-AC-01-04 Articulated connection GIGA L:237 mm
GI-AC-02-00 Articulated connection to 902 GIGA

il

m

30.00
" SECTION A-A

GI-AC-01-00 GI-AC-01-01




scs(e

High Pressure

" SECTION A-A

GI-AC-01-03

L J ‘*&;f' )
" SECTION A-A SECTION A-A

GI-AC-01-04 GI-AC-02-00

Coolant nozzles: / XV

Nozzles with several designs adapted to meet different coolant delivery requirements.
Material: Steel

Ref. Description
GI-NZ-01-00 Straight nozzle. ID:16 mm & L:38.5 mm
GI-Nz-01-01 Straight nozzle. ID:10 mm & L:38.5
GI-NZ-02-00 Nozzle 452.ID:16 mm & L:38.5mm
GI-NZ-03-00 Nozzle 902. ID:16 mm & L:38.5 mm




scs(e

High Pressure




scs(e

High Pressure

Starter kit:

Set of components to start and become familiar with the SCS Articulated Coolant Distribution System GIGA program.
Basic set of components delivered in a basic kit for the most typical applications.

Ref. Description

Kit Single Outlet GIGA:

For general cooling with a single outlet L=330 mm.
Weight: 1160 g.

Initial Connection:

1 unit GI-IC-01-00 BSPP 1/2"(M) to articulated connection GIGA.
Articulated connection:

GI-SK-01-00 5 units GI-AC-01-00 Articulated connection GIGA L:37 mm
1 unit GIFAC-01-01 Articulated connection GIGA L:87 mm
Coolant nozzles:

1 unit GI-NZ-01-00 Straight nozzle. ID:16 mm & L:38.5 mm
Fastening keys for the articulated system:

1 unit GHFK-01-00 Wrenches for fastening the 2 hexagons used in the GIGA program.
SW30 & SW35.

ITEMNO.| PARTNUMBER |DESCRIPTION| QTY.
GI-HC-01-00
IGI-AC-01-00
(GI-AC-01-02
GI-NZ-01-00
GI-FK-01-00-1
GI-FK-01-00-2

— == | = [y | —

o n e LD —




scs(e

High Pressure

Fastening keys for the articulated system: X/\F

Ref. Description
DE-FK-01-00 Wrenches for fastening the 2 hexagons used in the DECA program. SW8 & SWO.
HE-FK-01-00 Wrenches for fastening the 2 hexagons used in the HECTO program. SW13 & SW15.
ME-FK-01-00 Wrenches for fastening the 2 hexagons used in the MEGA program. SW21 & SW24.
GI-FK-01-00 Wrenches for fastening the 2 hexagons used in the GIGA program. SW30 & SW35.

- 3.00 _ }
=) = — M}
gl P ~ § i
& i> ] = 4 u|
</ % 0
=0 N\
A C\H";;// D,@ - i )
D e
s

DE-FK-01-00

6.00

- ) e
) ) j g ) E
: AR i
_ o)
3 T T’///_/D
T [/ = “> /r _—
g i

ST I WAY 2

BT RMHRCEART 2-17-17
tel:03-3851-6821 FAX:03-3851-56810



